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Run 4414 triggerwise, sums: All

Entries: 4443377

Mean: 4152.5367 +/- 1.9680

Std Dev: 4148.3326 +/- 1.3916

Run 4414 triggerwise, sums: All
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Run 4414 triggerwise, sums: Beam OFF

Entries: 7226

Mean: 1197.9231 +/- 10.4450

Std Dev: 887.8841 +/- 7.3857

Run 4414 triggerwise, sums: Beam OFF
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Run 4414 triggerwise, sums: Beam ON, Laser ON

Helicity==0

Helicity==1
Entries: 1363099

Mean: 4645.4656 +/- 4.0303

Std Dev: 4705.4981 +/- 2.8499

Entries: 1362293

Mean: 4654.4827 +/- 4.0366

Std Dev: 4711.4238 +/- 2.8543

Run 4414 triggerwise, sums: Beam ON, Laser ON
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Run 4414 triggerwise, sums: Beam ON, Laser OFF

Helicity==0

Helicity==1
Entries: 777294

Mean: 3325.4980 +/- 3.0920

Std Dev: 2726.0009 +/- 2.1863

Entries: 776178

Mean: 3331.6033 +/- 3.1217

Std Dev: 2750.2810 +/- 2.2074

Run 4414 triggerwise, sums: Beam ON, Laser OFF
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